
1. Choose the Venn diagram which best 
illustrat the three given classes in the 
question: 

Gold, Ornament, Silver 

OO) 

(B (A) (B) (C) (D) (A) (C) (D) 
2. 2019-2020 a7HR EATOTI A TTH 

Around. 
agriculture in Haryana (2019-2020). 
(A) 16% 

people are associated with 

(A) 16% (B) 33% 
(B) 33% 
(D) 51% (C) 25% (C) 25% (D) 51% 

3. Basiceally

considered as the form of 
main dialect? 

the Haryanvi language is 
which 

(A) r 
(C) ag 

(B) Tet 
(A) Kauravi 
(C) Bhojpuri 

(B) Pali 
(D) Mixed 

(D) aka 

4. Which is not a food crop from the 
following? 
(A) Rice 

(A) a (B) 7 
(B) Tea 

(D) Barley 
(C)41T (D) 

(C)Maize 
(5) Find the missing character from the 

given figure : 19 

3 15 
3 15 

1 
(A) 5 

(A) 5 (B) 9 

(D) 13 
(C) 11 (D) 13 (C) 11 

6. The longitudinal extension of Haryana 
State is A) 74 28' Ti dTER À 7736' T i 
(A) between 74 28' East longitude to 

77 36' East longitude 
(B) between 74°28' East longitude to 

77 36' West longitude 
(C) between 71°28' East longitude to 

77 36' East longitude 
(D) between 77°28' East longitude to 

84 28' East longitude 

(B) 74 28' Ti 
ATR A 7736' vfut anian 

(C) 7128' i *R À 77*36' R 
(D) 7T28' Am A 84°28' T 

7. Find the correct alternative from the 
options given below 

5: 124::7 ? u 5: 124:7':? 

(A) 125 
(C) 342 

(A) 125 (B) 248 

(D) 343 
(B) 248 

(D) (D) 343 
313 

S342 
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(8. fhe time taken to cover (D+11) km 
upstream is thrice the time taken to 
cover (D-3) km downstream. If the ratio 
of speeds of boat in upstream to the 
downstream is 3:7 and time taken 
to cover (D+18) km downstream is 
25 hours, what will be the speed of 

8. (D+11) km 
(D-3) km aTE 5 a FM F77 

(D+18) km aT 7u 2:5 1 

(A) 4 km/hr 

(C) 8 km/hr 
(B) 6 km/hr 

(D) 10 km/hr 
current? 

(B) 6 km/hr 
(D) 10 km/hr 

(A) 4 km/hr 
(C) 8 km/hr 

9. In which of the following places, the 
Food Park is not being set up? 
(A) Narwana (Jind 
(B) Rai (Sonipat) 
(C) Saha (Ambala) 
(D) None of the above 

(A) TaT (sTa) 
(B) T (HT-tva) 

ue) HIBI (37AT) 

10. The 10. fauA HHI FATt 3 
(A) so3A 
(B) 3o TT THR 

(C) A 

Permanent President 
Constituent Assembly was 
(A) Dr. Ambedkar 

B) Dr. Rajendra Prasad 
(C) K. M. Munshi 

(D)J. L. Nehru 
(11.)who among the following has received 

title of Vocal Emperor 
Samrat)? 
(A) Johrabai 

e Pandit Jasraj (D) Haddu Khan 

of the 

the (Swar (A) IT 
(D) TE 

fT ( Ho 12 3iR 13): TN T1 I à 
(B) Kallan Khan 

Directions (Q. Nos. 12 and 13) Read the 
information given 
questions that follow 

PxQ 3 Q, P 4I 
P+Q r P, Q T T 

II. P-Q1 37P, Q TA 
V. P+Q 37 Q, PI fHT 

below to answer the 
II. 

PxQmeans Q is mother of P . 
I. P+Q means.P is brother of Q 
II. P-Q means P is sister of Q 
IV. P+Q means Q is father of P 

12. Which of the following definitely means 
X is grandson of D? 
(A) A+XxH+ D 
(B) A-XxH+ D 
(C) Can't be determined 
(D) None of the above 

(A) A+XxH+D 
(B) A-XxH+D 

13. 3 3 fay fAfea a 13. Which of the following is superfuous to 
answer the above question? 
(A) I only 
(B) II only 
(C) II only 
(D) None of the above 

14. A merchant purchases a wristwatch for 
450 and fixes its list price in such a 
way that after allowing a discount of 
10%, he earns a profit of 20%. Then the 
list price of the wristwatch is 
(A) P650 
(C) F550 

(A) 
(B AII 

III 

14. TYTÅ TE T TSi P450 TicR 

10% TE 20% N HTT 

(B)700 
(D) 600 

A) P650 
(C) P550 

(B) P700o 
(D) 600 
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15. In which book Haryana has been coined 
as 'Bahudhanyaka' (Multilayer State)? 
(A) Ashtadhyayi 
(B) Matsya Purana 

YC) Mahabharata 

(D) Ramayana 
16. The 1Bhawani Amba Mandir' is situated 

in which district of Haryana? 
(A) Panipat 
(B) Karnal 
(C) Ambala 
(D) None of the above 

A7) Which Article of the Indian Constitution 
is related with the protection of the 
interests of the minorities? 

(Ea aEM)? 
(A) 3HP7t7T 

(B) R gr7 

(C) HR77 
(D) 7HT4 

fEum? 
(A) FY 

HB)HTA 
(C)4TM 

(A) Article 17 
(C) Article 30 

(B) Article 29 
(D) Article 31 (A) 17 (B) S 29 

(C) 30 (D) 31 
Dtrections (Q. Nos. 18 to 20) : In each of the 
following questions, select the related letters/ number from the given alternatives 

18) ?:LAMZ :: RANK: OCKM 
(A) OPXY 
(C) oCPX 

A (ra io 18 à 20) : f-afaa ra y  f 

18. ? LAMZ :: RANK OCKMM 
(A) OPXY 
(C) OCPX 

19. 6: 15 : ?: 45 
(A) 21 
(C) 11 

20. REAK: AEKR :: ?: POSE 
(A) EOPS 
(C) OEPS 

(B) OYPX 
(D) XOCP 

(B) OYPx 
(D) XOCP 

19.6: 15 :: ?: 45 
UA) 21 

(C) 11 
20. REAK : AEKR.:: ?:POSSE 
A) EOPS 

(C) OEPSS 

(B) 18 
(D) 24 

(B) 18 
(D) 24 

CoPs 
(B) POES 
(D) SOPE 

(B) POES 
(D) SOPE 

21. 1f x+=1, then the value of 24a= 7 
21. uf x +=1d, à 

7'4a3- 3'a t 
3a*a-x2 

3 

22 42 
x° +X+a x+x+a 

2-a)3 
t2 is 

(A)-2 (B) (A)-2 (B) 
2 

(D) 
a (D) 

Who was the founder of Haryana Vikaas 
Party' in Haryana? 

A) Chaudhary Bansi Lal 
(B) Chaudhary Mohan Lal 
(C) Chaudhary Charan Singh 
(D) Chaudhary Devi Lal 

2a 

(A) hr ataIM 
(B) HATIA 
(C) T 
(D) TA 

23. ziem- tT TT (A) 
(B) 
(C)TT 
(D) HTATR 

The headquarters 
Railway is located at 

MA) Chennai 
B) Mumbai 
(C) Kolkata 
(DY Secunderabad 

of Southeastern 
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MT 

A (24.)1f BL and CM are the medians of 
triangle ABC right-angled at A, then 
4(BL+CM 4) is cqual to 

24. zt BL 3tR CM AyT ABC, A HYBT, 
frrd, d 4 (BL +CM) a TT 

(A) 2BC2 (B) 3BC2 (A) 2BC2 (B) 3BC2 

(C) 4BC (D) 5BC2 (C) 4BC2 (D) 5BC 
25. National Dairy Research Institute is 

situated in- district of Haryana. 
(B) Kaithal 
(D) Gurugram 

A) Karnal 

(C) Faridabad (A) (B)r 

26.)The sheet of paper shown in the figure 
given on the left-hand side of problem is 
folded to form a box. Choose the correct 
alternative which will truely-represent 

position 
symbols/letters 

(C)arar D) TATH

the of various numbers/ 

A 
A B 

C 
C 

c 
DB 

D D B 
E 

E 

(A) (B) (C (D) 
27. WhichSchedule 

Constitution is related to Panchayati 
Raj? 
(A) Schedule II 

B) Schedule VII 

C) Schedule X 
) Schedule XI 

of the Indian 

(B) 37HE VII 

(C) X 
(D) 4 X 

HeT ( Ro 28 À 32) : faa s ANAa 
Directions (Q. Nos. 28 to 32): Each of the 
following 
given arrangement. Study the arrangement 
carefully and answer the questions given 

below 
MBNGPK$9Er%1W3&04L2TH5"BGO4ZSoS7 M8N@PK$9EF%1W38%QJAHL2THS BGO41Z6OS7 

questions based the on 

28. What should come in place of question 28. TrIETuR R AfAfa mark (?) in the following series based on 
the given arrangement? 

N@K EF1 &QA 2T5 ? N@K EF1 &QA 2TS ? 
(A) GOI (B) BG4 B) BG4 

(D) 042 
(A) GOI 
(C) TH (C)TH (D) 42 
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How many such vowels are there in the 
given arrangement, each of which is 
immediately preceded by a consonant 
and also immediately followed by a 

symbol? 
(A One 
(C) Threce 

30 Three of the following four are alike in a 
certain way on the basis of the given 
arrangement. Which is the one that 
does not belong to the group?/ (A) SF@ 
(C) 3J% 

T ts? 

(A) (B) 

C) a (D) T (B) Two 
(D) Nonee 

, ÀHafa 7T 8? 

(A) $P@ (B) CZ 

(B Cz 
(D) 2A5 

(C) 3J% (D) 2A5 

31. f m zq4 deh fat HT E, F How many such numerals are there in 
the given arrangement, each of which is 
immediately preceding a symbo? (A) One 
(C) Three 

(A) (B) 
(B) Two V 
(D) None 

(D) T (C)ta 

2 How many such symbols are there 

Uin the given arrangement, each of which is immediately preceded by a number 
and also immediately followed by a 

consonant?, 
(A) One 
(C) Three 

(A) B) 

(B) Two 
(D) None 

(C) (D) 

33. FRYTUT 1 TTY T I? 33. What is the State Bird of Haryana? 
(A Parrot 

B) Black Francolin 
(C) Kingfisher 
(D) None of the above 

(A) 
(B) I air 
(C) frb 

34. The least distance of distinct vision for 
human eyes isS 

HA) 25 cm 

(C) 75 cm 
35.) In the following question, which of the 

following cubes in the answer figure (A), (B), (C), (D) cannot be made based on the 
unfolded cube in the question figure? 

(B) 5 cm 
(D) 100 cm 

(A) 25 cm (B) 5 cmn 
(C) 75 cm (D) 100 cm 

35. -3TFN ZRI A TUTR T -1 (A), (B), (C) siR (D) TEi TAT T 

B+ 

(A) 

(C) 
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36. Who among the following players is not 
related to the wrestling game? 
(A) Yogeshwar Dutt 
(B) Geetika Jakhar 

C) Ajmer Singh 
(D) Krishan Godara 

36. F 4-1 farATE Frht a à qafa 
Ti &? 

(A) M za 
(B) h T 
(C) 79 fere 
(D) F ar 

(37) The acid in the gastric juice is 
WAT acetic acid 

(B) nitric acid 

(C) hydrochloric acid 
(D) sulphuric acid 

(A) z% 34 

(C) ITRG AA 
(D) HI% 3 38. Haryana Government offers mcals at 

subsidised rates for workers under 
Yojana. 
(A) Antyodaya Aahar 
(B) Antyodaya Anna 
(C) Khadhya Suraksha 
(D) Anna Suraksha 

38. zkTUI HTGR 

A) E7 HTER 

(B) 47t7 7 

39. Which is the largest flower in the world? 
(A) Lotus 

(B) Sunflower 
e)Rafflesia 

(D) Glory Lili 

39. fara I HAÀ *E1 a (yoa) za-8? 
(A)H 
(B) R 
(C) T T 

40.)The length of the diagonal BD of the 
parallelogram ABCD is 135 cm. If P and 
are the centroids of the AABC and 
AADC respectively, then the length of 
the line segment PO is 

(A) 6 cm 
(C) 45 cm 

40. HHTR TTABCD fau BD aTE 
135 cm I aid P r Q BH: AABC 3 

AADC I, KaTrTE PQ I FAT a 
(A) 6 cm 
(C) 4-5 cm 

LB15 cm 
(D) 3 cm 

(B) 1-5 cm 

(D) 3 cm 

41. CIPET FAT9AT EfTuTm 41. Two centres of the CIPET will be set up 
in the 

(A) west and south 
{B) north and east 

(C) south and west 
(D) west and east 

of Haryana. 
(A) T4 3r afm 
(B) 3 3ir 
(C) af 3n qfea 
(D) r ys 

42. F aA ard 
(A) RTTARA 
(B) HiTAeIRA 
(C) 5vIIRA 
(D) vgRA 

(42. Bone forming cells are 
MA) osteoclasts 

(B)osteoblasts 
(C) chondroblasts 
(D) chondroclasts 

43. Which of the following award(s) has been 
introduced by Buupinder Singh Hooda 
Government (2018) in the field of 
Literature? 

43. feE T HR (2018) aT Afra s $a 

(A) Haryanvi Award, Comedy Award, 
Women Composer Award 

(B) Surdas Samman Award
(C) All of the above 
(D) None of the above 

(B)RTH HAA JAR 
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4Which one of the ullowing is responsible r the stimulating eftect of tea? ATannin B) Sterovid 
Alkaod (D) Flavwnoid (A) 2Aa 

Sama Jayanti 
prvdes a monthlh pension scheme of 

Journalists Meet (D) trs 

(B)10,000 
CP12,.000 (D)P15,000 A8,00o (B)10,000 46. When did the Nobel Prire in Economics 12,000o (D)15,000 aunch? 
A) 1901 

B)1942 (A) 1901 
(B) 1942 C 

(D) None of the above 

1968 

C) 1968 
Two circles touch each other intermally Their radii are 2 cm and 3 cm. The biggest chord of the greater circle which is outside the inner circle is of length A) 63 cm 

(B) 22 cmv 
C) 36 cm 
(D) 42 cm 

3H61 fnd 2 cm 3 3 cm 
H ta, 3Aiait aTR , 

(A) 63 cm 
(B) 22 cm 
(C) 3/6 cm 
(D) 42 cm 48. For which game is the Indira Gandhi Gold Cup' being awarded? 

A) Women's Hockey 
(B) Women's Football 

(B) HTa FaaTa (Women's Cricket 
(D) Women's Badminton 

(19) Men, women and children are employed 
to do a work în proportion of 1:2:3 
and their wages are in the proportion of 

6:3:2 When 50 men are employed, 
their total wages of bil amount to 
4,500. What are the weekly wages paid 
to a man, a woman and a child in 

upees? 
(A) 210, 105, 90 
B.210, 

49. fi f i, Hmat st 

3761 47 6:3:2 I T 50 

(A) 210, 105, 80 
(B) 210, 105, 70 
C) 210, 105, 90 
(D) 200, 105, 70 

70 

(D 200, 198, 781r 1p 26; 8 
50. The highest dam of India is 

A) Mettur 
BRihand 
Tehri 

(D Bhakra 

(A) s go 6 3o 
(B) f 
(C) 

los (D) HTGSI 

M 
8 /3-C 
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HET7/ /ET fT T3t 3H {A (A), 
(B), (C), (D) tT7 HITÀ 3HA1 37 fem am I a 377 a 3ATB Fa à-4, , 3, 3, 

3, , 3t1 

3TU 4T: , 313 a71 

(A) ,3, , , HFA, Yfa, Tsa ar a9T 

(B) 

(C) 

A) 34TTdA, STyf% 

(B) fTtz, »anfesrefta 
(B) C)3Teebreita, qezrITA 

(D) 7A, 3Tg% (C 

58. For favour of necessary action 
53. T A 3ATE 34EETE 

(A) 

MB) B) 

(C) (C) 

(D) (D)ar rÝATÉI fg 

fa: (Ho 54a 55) f-afem 7-q 59 

54.)74-TAT 
(B) 9 

(B) 4-g (C)TgT 

(C) , Ta 
(D) ira-F, 3 

(D) 

60. R TT"a A-HI 

55. -qVS 

A R-u (A) 

(B) Tar-RT (B) 

(C) (C) 

(D) 
VD) YIETA 

61. et 4ET fr sr 

(A) 

(B) 

C) 

13-C 
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(r1) (x )"4 (x12y)- ( 11)(* *) - (xy)(a1

2. a=x+ u, b=x- y, C-X +2y 1, 

a2+b2 +c-ah-bc-ca 

62. If a =x+ y, b=X - y, C=X+2y, then 

a2 +24c2 -ab-be-ca 
is equal to 

(B) 142 (B) 14y2 
(A) 8y 

1 C) 92 (D) 72 
(C) 9y2 

63. National Highway 55 connects Siliguri 
and 63. h qTHT 55 fri sr. 

(A) Salbari 
(A) HATt 

(B) Dalkhola 
(B) T 
(C) T 

C) Darijeeling 
(D) None of the above 

64. A dice is thrown four times and its 

different positions are shown below. 
What number is opposite to the face 
showing 2? 3-6 

eia 2 feuaa -t HET T? 

(A) 6 (B) 3 
(A) 6 (B)3 

(C) 4 D5 C 4 (D) 5 
65.)What was the population of Panchkula 

district according to 2011 Census? 65. 2011 UT qHR yapai faa 
(A) 5-61 lakh (B) 6-51 lakh 

(C) 5-51 lakh A5-61 RG (B) 6-51 FIG (D) 6-61 lakh 
(C) 5-51 a (D) 6-61 FG 6.)According to given figure of dice, which 

option is correct? 

1 
6 2 

3 
4 5 

6 2 

4 s 

(A) (B (D) 
67. Rani Rampal is associated with the 

(A) (B) (C) (D) 
game of 

(A) golf (B) taekwondo (A) es 
ehockey (B) T 

(D) gymnastics (C) gT (D) FTRH /3-C 
:10 
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Directions (Q. Nos. 68 and 69): Fill in the (T7aHo 68 stt 69) : a Aum fad ÀA 
blanks from the options given beloW 

68. 198, 194, i8s, 169," 68. 198, 194, 185, 169, 2 
(A) 92 (B) 136 (A) 92 (B) 136 

144 (D) 112 (C) 144 (D) 112 

IA 2 (69 DKM, FJP, HIS, JHV, 28 V 69. DKM, FJP, HIS, JHV, 2 
(A) LGY (B) HGY (A) LGY (B) HGYY 3 

w (C) IGZ (D) IGY (C) IGZ (D) IGY 

0 The 

Yamunanagar district according to 
Census is 

5Ev density of population of 70. 2011 1 AUAI 4HTR R 1 
011 

(A) 786 ufA af fro o 
(B) 678 vfa ai fio ho 

e 687 yfa ai fo to 
(D) 768 sfd ai feso o 

14T (A) 786/sq. km 
9 HS (B) 678/sq. km 

(C) 687/ sq. km 

(D) 768/sq. km jo J 
U KP 71. 10 #eIÍ I 3tTHa 40-2 I aa i 8 YTT 71. The average of 10 numbers is 40-2. 

Later it is found that two numbers have 
been wrongly added. The first is 18 
greater than the actual number and the
second number added is 13 by mistake 
instead of 31. Find the correct average. 

13 M N 

31 H R TA 13 _I TTI T 

(A) 498 (B) 40-2 
(A) 49-8 B 40-2 

(C) 456 (D) 38:4 

(C) 45-6 (D) 38-4 
72. fazftC Aa 

(A) IR 3 
(B) ifs A 

72. The source of vitamin C is 

A) nitric acid 

(B) ascorbic acid 

(C) oxalic acid (D) 34 
D) maleic acid 

(73.1f a clock takes seven seconds to strike 
seven, how long will it take to strike ten? 

(A) 7 do 
(A) 7 sec 

(B) 9 Ho 
(B) 9 sec 

y 7Sec 
UC 10 sec (C) 10 

(D) None of the above (D) 31 À T 

74. 2011 TAI 3HR AM 9 /14/Literacy percent 
according to the 2011 Census was 

of Karnal district 

(A) 84-73 

(B) 64 73 

(A) 84 73 

(B) 64 73 

(C) 74-73 

(D) None of the above 

fC) 74:73 

(D) 37ÀÀ 7 

/3-C 11 P.T.O. 

www.HaryanaJobs.in



2 

5) In a family of 8 adults and some minors, 
the average consumption of rice per 
head per month is 10-8 kg, while the 
average consumption for adults is 15 kg 
per head and for minors it is 6 kg per 
head. The number of minors in the 
family is 

75. 7 Tftar 8 
1 

8 kg8, Taf �Fi 
HAYa 

5kg Wfd a at 3ari fIZ TE 6 kg (4lo verage 

6 fort&? 
(A) 8 (B)6 (A) 8 (B) 6 

o8 

C 7 D9 (C) 7 (D) 9 

76. Vikram Sarabhai Space Centre (VssC) 76. aH HTNTË RH (VSSC) l 3? 
(A) fasaaga 

Is at 

(A) Thinuvananthapuram 
(B) Mumbai 

Hyderabad 
(D) Bengaluru 

/08X 

(B) 

(C) 

72 

(D)T 
77. Chose the correct alternative from the 

following that will continue the same 
pattern and replace the question-mark ; 
3,47,7, 13, 13, 21, 22, 31, 34, ?| 3, 4, 7, 7, 13, 13, 21, 22, 31, 34, ? 

(A) 42 (A) 42 43 (B) 43 

(C) 51 (D) 52 (C) 51 (D) 52 

78,Sex ratio of the population of Karnal 
Vdistrict was. 78. 2011 6 TTT 3gaR ATa f - according to the 2011 

Census.
(A) 888 (B) 886 (A) 888 B) 886 
(C) 887 (D) 881 887 (D) 881 

79. Which of the following were the most 
affected districts of Haryana by Satyagraha in support of Hindi? 
(A) Rohtak, Hisar 
(B) Sirsa, Fatehabad 
(C) Panchkula, Yamunanagar 
(D) Mahendragarh, Rewari 

(B) ren, 5AETAT 
(C)TM, HHHR 

(D) HT, tari 
80. In the following question, arrange the 

given words in a meaningful sequence and then choose the most appropriate sequence from the alternatives provided below: 1. I 
1. Elephant 32 415 2. 2. Cat. 
3. 3. Mosquitp 

Tiger 
5. 
4. 4. 17 

Whale 
(A) 1, 2, 3, 5, 4 
(B) 2, 5, 1, 4, 3 

Le) 3, 2, 4, 1, 5 
(D) 5, 3, 1, 2, 4 

5. 

(A) 1, 2, 3, 5, 4 
(B) 2, 5, 1, 4, 3 
(C) 3, 2, 4, 1, 5 
(D) 5, 3, 1, 2, 4 

/3-C 
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81. The growth rate of the population of Haryana in the decade 2001-2011 was 
81. 7 2001-2011 zTUT HOT1 

fa-bT4- 
A) 17-9% 

(A) 17.9% 
(B) 18-9% 

(B) 189% 
MC) 19.9% 

(C) 19:9% 
(D) 20-9% 

(D) 20:9% 

2 A purse contains 1, 50 paise and 25 paise coins in the ratio 4:5:6. 1f the total value of the coins is 48, find the number of 50 paise coins. 

82. g7 agy P1, 50 3N 25 f 

(3 48 8, a 37 À 50 o 
fere ? 

4 cin (A) 15 4t&5t 
(A) 15 

5 15EB) 20 

ciyc) 25 

a(D) 30 

4xtt (B) 20 

4nt2:5xt/'Sx (C) 25 

(D) 30 
6 

eT5 83,What percentage of the total geographical 
area of Haryana is wooded (forest area)? 

83. FATT f5 3I ba1 yfaTT 
4TP1 1-31a ? 

A) 391% 
(A) 3-91% 

(B) 3:51% 
(B) 3.51% 

(C) 3-41% 
(C) 3:41% 

D) 3-19% (D) 319% 

84. Which one of the following is the wettest 
place in India? 

84. f YTa FT AT (Tsiarm) PT 
14-41? 

(A) Udhagamandalam (A) 371H8T 
(B) Mahabaleshwar (B) HEITR 
(C) Tamhini Ghat 

tD) Mawsynram (D) HAA 

85. The term to be added to 121a+64b to85. 5 i ai 7aA & fey 121a2+64b À I make a perfect square is 

A 176ab Px 2 
(A) 176ab 

(B) 276a2b (B) 276a2b 

(C) 178ab (C) 178ab 

(D) 188ba (D) 188ba 
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Directions (Q. Nos. 86 and 87) : Each of the 
questions given below consists of a word in 
capital letters followed by four words. Choose 
the word that is most nearly opposite in 
meaning to the word in capital letters and 
write the word of your choice on your answer 

is given below 92. A small paragrapn 
1ollowed by a question on it. Read the 

paragraph carefully and answer the 

question : 

Emerson said that the poet was 

landlord, sealord, airlord. The flight of 

imagination made the poet master of 

land, sea and air. But a poet's dream of 

yesterday 
achievement and a reality for all men. 

Even those who invented, improved and 

perfected the aeroplane could hardlyy 

have dreamt of the possibility of flight 
into outer space. 

paper: 

86. EXASPERATE 

(A) Confide B Formalize becomes today an actual 

(C) Placate (D) Betray 
87. DEARTH 

(A) Life B) Abundance 

(C)Brightness (D) Terror The 
statement that 

passagee best supports the 

Directions (Q. Nos. 88 and 89) : Each of 
the following sentence completion questionss contains one blank. This blank signifies that a 
word has been left out. Belovw each sentence 
there are four words. For each blank, pick the 
word that best reflects the sentence's overall 
meaning : 

(A) seemingly impossible imaginations 
make one a good poet'. 

(B) 'all imaginations become a reality 
some day'. 

1(Cwhat man imagined has never been 
impossible; he has always turned it 
a reality through his conception of 
ideas and sheer hard labour'. 

88. The newest fiber-optic cables that carry 
telephone calls cross-country are made 
of glass so . 

thick is 
that a piece 100 miles (D) man has reached the climax of 

technological development with his 
exploration into outer space'. 

clearer than a standard 
windowpane. 
(A) fragile (B) immaculate Directions (Q. Nos. 93 and 94): In each 

question below are 
numbered I and II. In these sentences, two 
homonyms are given in italics type, which 
may be either misspelt or inappropriate in the 
context of the sentences. 

(C) tangible CDY transparent given two sentences 

89. The reasoning in this editorial is so 
that we cannot see how anyone can be 
deceived by it. 

(A) coherent 
Read both the 

sentences carefully and decide on 
correctness on the basis of the italicised 
words. Study the four alternatives and select 

(B) astute 

Ue cogent (D)specious 
your answer : Directions (Q. Nos. 90 and 91) : In the 

following questions, four alternatives are given 
for the idioms/phrases. Choose the one which 
best expresses the meaning of the given 
idiom/phrase 

(A) Only sentence I is correct 
(B) Only sentence II is correct 
(C) Both the sentences I and II are 

correct 
90. To make mincemeat (D) I as well as II are incorrect, but 

both could be made correct by interchanging the italicised words 
(A) Copy the appearance of somebody 

(B) Take care of something 

(C) Refute utterly 
U) Have the same opinion 

93I. This is the best stationary shop in our locality. 

I saw a stationery van there. 
II. 91. To carry the conviction 

(A) Be extremely fond of anything 
B) Bear the proof of the truth 

C)Feel displeasure 

94. I. He is wrapt up in pleasurable contemplation. 
II. I listened to her song with rapt (D) Make overtures of reconciliation attention. 
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95. In which of the following places 8 Chhachhrauli, 
covering 63 sq. km, situated? 

95. 63 i f to frga a à foh z wzet 
having a vast area 

(A) Ambala (A) 37AT (B) 7FR D Yamunanagar 
(C) Balavali (C) Taf (D) fe 

(D) Jind 

96. Two cars start at the same time from A and B which are 120 km apart. If the two cars travel in opposite directions, they meet after 1 hour and if they travel in same direction (from A to B), then they meet after 6 hours. What is the speed of the car starting from A? 

96. 2zai qz {i HT A N B, U- 

4 120 km , À Th 1 z2 a fzT 

(A) 70 km/hr A) 70 km/hr 

B) 120 km/hr (B) 120 km/hr 

(C) 60 km/hr C 60 km/hr 

(D) None of the above 

97. In which of the following districts of 
Haryana the famous Brahma Sarovar is 
located? 

(A) (B) 7 
(A) Jind (B) Mahendragarh 

(C) Fo (D) H-7 
e)Kurukshetra (D) Sonipat 

98. 61 taa TEai 

(A) -t 
(B) dETr 

The Konkan Railway connects 
(A) Goa-Mangalore 

(B) Roha-Mangalore 
E Kanyakumari-Mangalore 

(D) Kanyakumari-Mumbai (D) 4TÅ-TT 

99. 2011 TT HTT, z4TUT 99. Which of the following districts of 
Haryana is the worst in sex ratio of| 
population according to the 2011 
Census? 

(A) 4I (B) 
(A) Ambala (B) Rohtak 

(C) T (D) raT 
MC) Gurugram (D) Faridabad 

100. A runs two times faster than B and A, B Ttd st B, CÀ da zî naÀ 
B runs three times faster than C. 
If Ccovers a distance in 
1 hour 54 minutes, then the time taken 
by B to cover the same distance is 

(A) 19 fe 
Cl H 

839 

(A) 19 minutes 
(B) 38,1z B) 38 minutes 

(C) 51 minutes (C) 51 ' ' 
(D) 57 minutes (D) 57 fHe
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